
Petits : 
Motifs : masque
Réponse générale : C1
Réponse aux indices : 
1	 5
2	 Rest
3	 2
4	 Vert
5	 Triangle
6	 Gants
7	 Chêne
8	 5

Moyens : 
Réponse générale : 6ALPWQVC
Réponse aux indices : 
1	 Yellow 6
2	 Serpent 7
3	 30 C 1
4	 = avant 5
5	 1860 = 0168 4
6	 Casque 6
7	 Oeil 4
8	 Goûter Lucas 5

Grands : 
Réponse générale : Jean Titouplin
Réponse aux indices : 
1	 1698 = avant 1988 Elie coptère + Tom Edgéry
2	 =4X8=32 Céline Evitable
3	 1852=janvier, août, mai, février, Ulrick Bourre
4	 1643=four. Félix Avanligrek
5	 Triangle=impair=homme Laure Triblanche
6	 Bronze Savannah Sacha Hutte
7	 X Alphonse Patamobilex
8	 5 Gérard Menfin

Randoland - Bitche


